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QUESTION 1

What is a characteristic of POWER9 processor-based virtualized environments? 

A. Processors are assigned per whole core. 

B. Greater virtualization increases the cost of computing. 

C. Greater virtualization reduces workload costs. 

D. Resources must be dedicated at the PCIe card level. 

Correct Answer: C 

 

QUESTION 2

Which of the following statements is true regarding Dynamic Logical Partitioning (DLPAR)? 

A. In a disaster, it will immediately move active LPARs from a local system to a remote system, over the network with
only a pause in service. 

B. In a disaster, it will immediately move active LPARs from a local system to another local system, using a common
SAN, with only a pause in service. 

C. It enables the relocation of resources such as CPU and memory between LPARs as required, without an interruption
in service. 

D. It will automatically allocate an unlicensed processor to an LPAR to replace one that has reached the threshold for
errors. 

Correct Answer: D 

Reference: http://ibmsystemsmag.com/aix/administrator/lpar/dynamic-lpar---the-way-to-the-future/?page=2 

 

QUESTION 3

An IBM Business Partner is designing a production system for SAP HANA with multiple virtual machines. 

Which feature of a Power System E980 server is an advantage over an x86 server for the customer? 

A. Memory bandwidth and Level 4 cache 

B. 12-way simultaneous multithreading 

C. Takes advantage of DDR3 memory 

D. Number of cores per socket 

Correct Answer: A 
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QUESTION 4

Which of the following is a benefit of Power Enterprise Pools? 

A. Has no restrictions on where or how long cores and memory can be relocated. 

B. Provides automatic load balancing based on built in policies enabled in PowerVM. 

C. Can use a Scale-out system temporarily in certain conditions. 

D. Provides flexibility to manage both core and memory resources across multiple servers. 

Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/TI0003N/p8ha2/systempool_cod.htm 

 

QUESTION 5

What is the minimum amount of rack space that an 80 core Power System E980, without any I/O drawers, will take up in
a 19 inch rack? 

A. 10U 

B. 12U 

C. 16U 

D. 8U 

Correct Answer: D 
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